S A X s £ 2 A 8 F B A

RAMAENBAMSY

V2%, AE R I 0 TUT o6 Ak T8 B A ), S st T REMR
R AL 2 A DI AN AR A R, ) AR AR E M 1 v 2E

Ko

PR R AR A R R, S ] DA #]
6000 psi (400bar), FLAANFIMREL, ASFEAMERIE 106 1,
B SR BB K — R LS
10VDC UK #er % 4 ) 20 mA HIREH, Al 2 A5

B WL & 7775 2

1500 F A1) s BH =X s ) 4% J82 % FH i — g — 1 v i

PR M e 2 A R4 ol s

IR REM S IR IR IR R LA I T A%l
Jefe AZTTIEIR T AERPRE SRR “PARIRTE” ARG ke s AR EOTA AT — A S B [ i i 15 e it
FNERE, FRAEHACE . A OREENE, IXSeA R O BN AL, T P AN AR A R

AT, iAh, ARSI RTINS IR AR IE A 500 Uk, PRI N-54 2+135°C .

"iEHE 0 F S5VDVC/O F|

1500 R 5 77 4% 828 P HAS
A% 1500 %741 1502 %741 1503 &4
fin 0 %] 5 VDC FS 0 % 10 VDC FS 4 %) 20 mA FS
LY HL 6.5 % 30 VDC 11.5 ] 30 VDC 8 %] 30 VDC
FHLYR R A <=+0.01% FS/VDC <+0.01% FS/VDC <+0.01% FS/VDC
BE FLI 6 mA 6 mA N/A
e/ MAEPHAT 2500 Q 5000 Q N/A
B K A% BHT N/A N/A (V&7) X50Q
& G H 0 %) 10 psi (0.7 bar) FS, 0 % 6000 psi (400 bar) FS
w1 <+0.1%FS, <£0.25%FS, <=+0.5%FS,
Z i h <+1.0%FS
PRSIy e <=+0.01% FS
M 17 ) <1 ms
GRT Y2 < *0.1% FS/year
i s 2 fE i R 4 5 R
>35x for <100 psi (<6 bar)

ok [ >20x for <1000 psi (<60 bar)

>5x for <6000 psi (<400 bar)
AR L -40°C #+125°C
R (RMERD <+15%FS H<+1.0%FS
TN B R <+0.03% FS/g 8{<=+1.0% FS
PSR FE 35¢ (5 % 2000Hz)
ki A PR IEC 60068-2-32 #1 H %1k
I 55 A i >100 H G
JE Sy A Jeil. NPT, 2l ‘M Fl ‘G B4
R BB 17-4 PH SS; 4b5¢ 316/316L SS
i 3% ik, ki — L gE
Uiy 1A 1.163 % 3.146 cc (T3 1 FED

BB E IR A TR &N A, IR 3 R R B R L !
ANE M RN T IN H FEK 269 B & 446 E E-1-501 %
H 1% : 027-83659460. 83659215

NE WAk www.sensortx.com
25 430022
L H.: 027-83659275. 83659215 E-mail: whtx@public.wh.hb.cn

70




S

RAARERAARED

A X fu R 2 M &£ 7 & A

3l

1500 R 5 /)t BB 2 A %

1501 | LSS, 0-5VDC e, —ZRElH (Y. (55, Bt

1502 | JEAfEESE. 0-10VDC il A, —2mdl (. 55, i)

1503 | & JAF48%, 4 3 20mA FIBgHGAEH, P (+.

>
#
i

WL £0.5%, W IRE<E15%W R (20 CEH+80°C); WRIGIE S LN 4 1%
B | WEE£025%, WEIRE<EL0%HERE (20CHEH80°C); WIGET): WERM 4 5
C | WEREL0.10%, WEIRE<E1.0%WHEFE (20CHH80°C); WIGET): WERMN 4 %
[3Eshn G SR SO, AR ]
01 | 1/87-27 NPT Male $24( 21 | 7/16”-20 UNF Male }24£L 42 | M14X 1.5 Male 124
02 | 1/4”-18 NPT Male #24£¢ 22 | 3/8”-24 UNF Male 124 51 | M14X 1.5 Female #24(
03 | 1/2”-14 NPT Male #24£¢ 31 | 7/16”-20 UNF Female H2£¢ 62 | G 1/4 Male $¥24L
12 | 1/4”-18 NPT Female 8240 | 41 | M10X 1 Male I 71 | G 1/8 WIRLL
A145 080A158 — KRR AS (ZZhdd) FENINEL S, HER 2RI et IR, F e F (P58
80 | 1/87-27 NPT Male 83 | 7/16-20 UNF Male 86 | M14X 1.5 Male
81 | 1/47-18 NPT Male 84 | 3/8”-24 UNF Male 87 | G 1/4 Male
82 | 1/27-14 NPT 85 | M10X 1 Male

EZ | #&8:(fiity EX 280 DIN £ N () A AL R ol s B R ) 250

FG | &1 6 &% 3k, MS-26462 2R £+ PTO6E-10-6S 8% EW 257! 6 41, MS3116-10-6S #fik)

GC | %EH 6 514 HH:3 MS-26462 JHU (B4 PTOGE-10-6S 5 EW 2K 6 41 MS3116-10-6S 4isk), 7 95% I A #4M¥t

GD | #E 6 517 M4 MS-26462 S (Hit & PTO6E-10-6S Bi:# EW style 6 £1,MS3116-10-6S Hizk), i 95%1 A& /Ii

FK | %3 2-pin 825038101, ML-C-5015 2% ({UH T~ 1503 RAET)

FH | 4k, KR 750psi, BRALEES, 052 RUPLkHLE, A 10 SRR (BUH T 1503 RANLER % B

FB | &4k, KRk 750psi, BRALEE, 059 £ SLkmidi, A 10 SREL (MUH T 1501 A1 1502 R AL 0 % B

GL | —#&tk, KRtk 750psi, BALE, HH0R O 077 2 F4 w40, [ 10 BRSNS GEHFHHA RIS 0D

GS | WPV GL -tk

EZ | #E(iis EX 2% DIN £ D (%) A4k s B R 250

|50 el OtkeRE e, W |

10psi | 0% 10 psi 1k psi 0 % 1000 psi 0.7bar | 0% 0.7bar | 100 bar 0 % 100 bar
15psi | 0% 15 psi 2Kk psi 0 %] 2000 psi 1 bar 0 | 1 bar 250 bar 0 % 250 bar
30psi | 0% 30psi 3k psi 0 % 3000 psi 3 bar 0 | 3 bar 400 bar 0 % 400 bar
50psi | 0% 50psi 5k psi 0 | 5000 psi 5 bar 0 | 5 bar Ivigbar | Vac % 1 bar
100psi | 0%/ 100psi | 6k psi 0 %] 6000 psi 10bar | 0 %] 10 bar 1v3gbar Vac %I/ 3 bar
200psi | 0% 200psi | 15vI5gpsi | Vac F 15 psi 25bar | 0% 25 bar 1v5gbar Vac ¥ 5 bar
300psi | 0% 300psi | 15v30gpsi | Vac ¥ 30 psi 40bar | 0 %40 bar
500psi | 0% 500psi | 15v45gpsi | Vac I 45 psi 60bar | 0% 60 bar

RIE G # B2k - GORE-TEX JE#as Al A RUZE | @0 5 UREM, ARG T
FH Al FB LIl A AAL FB 85D, l il 0 S AR

S HERIE ONIEH] BZ #3350

A i1 (ANE EZ #3310

G B EFER B A B MG R G, R S 2Rk ) 2 # 3k : www.sensortx.com 7
NE AR RN IN T FEEK 269 B %440 EH E-1-501 £ 25 430022
HL e 027-83659460. 83659215 4L H.: 027-83659275.83659215 E-mail: whtx@public.wh.hb.cn




S A R M £ 2 B # A B’ A 4§

RRAKERRANAY
= 13 =
RS = =
| | | | [ I f I [ I

Series Series EZ FG, GC,GD FK FJ FH FB GL
1501, 1502 1503 Salder Tabs 6 Pin Jack 2-Pin Jack 3-Pin Jack Integral 052 Integral 059 Integral 077
Oto®, 0to 10 4tn 20 mA DIN Style MS-26462 Style | MIL-C-5015 Style | MIL-C-505 Style | 2-Wire Cable 4-Wire Cable | Vented Cable
VDC Qutput Output

+HE FEREAAES Tah 1
Common |- HIE/M5 = Tab 2
NG

+ ¥ Tah 3
BESNE |REEAR Tab 4 e e
SrinER (TR0 ) 88 (T30 )
Arinced (AT pr fnes (AT 2T
ERENFE [ERESF A 7 B Bt B
TR A TR
fivtx BB (SR S ER T )
. Madel 080A158 059EW010GF EW 6FL 1R E UL BL Ik, 4 PER AT 10 1t 3 mik R 2k
V, EnmmR 059FY010GF FY 3L R AR ILBL L, ARSI 10 [t 3 mAR LR
Mo del 080A161 052APO10GF AP 2 AR RRSEILEL B L 2B AR 10 Tt 3 M B
BENE . EEBLESL
FEAEOE AP 2L ME-3108 FR P77 TR (R0 FK BCAEH )
B BFLMS3118 W e A7 B (FA FG, GC, GD BL & H )
— BX 47l DIN |1 EZ BC &8 H) - 47 E0
v Y 330 MS-3108 #1% AVE R (R F) B & fEH)
SEEIERE
_— .
} m SR oz
e E =
ek i s
F— b e
F—rw'nTl T PRTAL
L!I. /Nllﬂ
o _ THREAD STYLE X i
_—J \lelm
1REFAY - [s] MODE_ ook 181
INA;ER

I 2 W R T o R s 5t B 47
KR TR, IF AR SE 5 % S5 2 MK KR i K
R 73 X RAS, HVAC A& FIK R4
FERAEREOGE, F7Ki, OB LA RV =

Rl

BAB TR F BB ENGRF RN KAKNRRLER  AFRME: wwwsensortx.com 72
AE Mk RIXH X B &£ 269 5 &4 E E-1-501 ¥ B 25 : 430022
HLi%: 027-83659460. 83659215 4L EL: 027-83659275. 83659215 E-mail: whtx@public.wh.hb.cn




